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Answer all questions. For full credit vou must show all vour work.
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4. LE Mg (20%, 5% each)
(1) Philips curve
(2) Quantity theory of money
(3) Ricardian equivalence proposition
(4) GDP deflator

5. Evaluate whether each of the following statements is True, False, or Uncertain. Explain why.

(1) In an Edgeworth box, moving from an allocation not on the contract curve to an allocation on the
contract curve involves a Pareto improvement. (6% )

(2) When analyzing an oligopoly in which firms sell homogenous products, the Cournot model is more
suitable than the Bertrand model. (6% )

(3) Compared to the case where the input market is perfectly competitive and the output market is
monopolized, the joint producer surplus is higher and the consumer surplus is lower when both markets
are monopolized. (6% )

(4) The long-run market supply curve in a perfectly competitive market must be a horizontal line. (8% )
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